Pon gian hoa biéu thic sé mii (2 bién)

° B @
e ¥

Tén: Ngay thang: Diém:

4 x y(—3)x2(x2)6x3 0}(—2))5 7X(_7) « y6(X5 « y5 )2
8% (D)D)

2t % y3 (x5 x y5 )5 4 x y(—3) x(—l)(x5)4x(—2)(y(—2))4
Tx P D

2 x O3 x 3D 20 x D) (D
3% D D)D

1 % P05 Dy2 2 x yz (xs Xy6)2

7x4 % y4 (x(—2) x y3)(—1) 7x(—9) x y(—4) (XS % yS )4
5 x y(—2)(x2)3

www.snowmath.com


https://www.snowmath.com

)

Pon gian hoa biéu thic sé mii (2 bién)

Tén:

Ngay thang: Diém:

4 x y(_3)X2(X2)6X3 (—2))5 7x(—7) % y6(x5 x y5)2
A17 8 x WD D)D)
y13 7y17

8x

2x4 > y3(X5 XyS )5
75 P D)D)

4 x y(_3) LD (x5 )4 2 (y(—z) )4
47
2 2725
X

11
= Y
7 y

x8 % y(—6) (x3 x y3 )(—3)
3% P D D)D) 5
1
3x3 y13

20 x D) (D

| x y3x(—l) (xs)(—3)x(—2) (y(—l))z &2 x 25 x yOY?

y g12,14
= y
7 5 A2 % 3D 7D x DS x5
7x°y 5% YA (x2)3
7 518
577

www.snowmath.com


https://www.snowmath.com

